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10.

11.

12.

Maximum : 75 marks

PART A — (10 X 2 = 20 marks) 5.

Answer any TEN questions.

Find the fourth degree equation with rational
coefficients whose roots are 1+5v—-1,5-+/-1.

ANhswpn Gamstamards Qarar 1+5vV-1,5-+—1
QAW gpomismeTsE QST QM [IETETD  UGF

FLOGTLIML_ L& ST6HTS. 6.
Solve the equation x*-5x3+4x*+8x-8=0
given that one of the roots is AH -5 v 7.
(1-V5) eremugy %* ~ 5% + 4% +8x 8 =0 — ar g
apeid  eram Qer@ésuL g mrider @mmsgr_:_lms_l
Sngs.
If o,y and & are the roots of
x* + px? +qx® +rx+5=0 find Za’ p?.
xt+px’ +gx’ +rx+s=0 - @ aparss a,f,y
wpmib & erefld Ta® B2 - an whlimus srers.
g Bese - A y@&e,ﬁ
//3??@
Prove that the matrix owm% e m@ is
sinf cosé

orthogonal.

e & 13.
_HMMMQ l‘oMMM Q ) @_mam &4&@&:@&:,@4@ erem
Hyeys.
If n<16, write down the formula which gives 14
prime numbers. .
n<16, aealld usr aansma smalsEL GESTEMS
TWPEIS.
What is the value of 7(50)?

- 7£(50) e AL eremen?
| 15.

Find the remainder when 3'% is divided by 101.
3'%° - ew 101 - 2% 2@&@5 Guisy flev_s@Ld
BlaniLis setr®g..
Find the number and sum of all divisors of 360. 16.
360 - er 9@.@%&%9 ﬂaﬁgmamsaaasgf_b

9@&%&939 &l (0§ Asransudenanyid srers.
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Find the quotient and remainder when
2x° +8x° —~16x% + 2x — 4 is divided by x +5.
2x° +3x° -16x* +2x -4 - @w (x+5) - oo

uGEEW Gung dea_s@L m.a| wHmb BHaws sremrs.

Find the sum to of the series

Tmﬁwuhﬁmmeﬁm.m.mﬁ% o
11\6) 2!\6) - 38! \6) "
NAJ_ Nme N.m.mﬁﬂu? .
1+—=| = |+— + =|.w®  aemm

6 6 3! \6
auamqerer @5Asm_fler sl Hs Gsrasmus srams.

Write down the equation for e* +e~*

X

e* +e™" andifleunsssens er(pss.
Find the wvalues of x,72 and w that
satisfy the matrix relationship
[x+3 2y+5] [ 1 -5
z+4 4x+5|=| -4 2x+1].
|l w-2 3w+1] |2w+5 -2 ]
[x+8 2y+5] [ 1 -5
Z2+4 4x+5|=| -4 2x+1| aem efsafer
lw-2 Bw+l| [2w+5 -2

2. pays@er X,y,2 wHmb w _%862 QmE%%@Q.&%@
Simausefien bHliLsmars sy,
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PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Solve the equation x® -4x%-3x+18=0. whose
two of its roots are equal.

Qrar®

x® —4x? ~3x + 18 = 0 eremp swemIT L Eiéss.

ApEIGET FLOLDITE Qsramr_

If @,y are  the of the

x®+ax* +bx+c=0 form the mazmﬂob whose
rootsare ¢ B8, By and ya.

roots equation

x° +ax® +bx+c=0 e gpaissar @, B,y erefle ap,
By wpgd ya Qeapep gperisdrss QererL

FeTurL_ent_ 2 (HEUNEGS.

Increase by 7 the roots
3x* +7x% —15x% + x-2=0.

.of the equation

3x* +7x% - 1522 +x-2=0
tpomsafd 7 - amii s shés.

GTeND  FLOGTLIML g 6T

Remove the second term from the macma.os
x® -6x%+11x-6=0.
x® —6x2% +11x - 6 =0 erénp m_b@._r_:_ls.ma @q@ﬂl:_b

2 pLIL BEGe.
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17.

18.

19.

20.

Verify Cayley — Hamilton theorem for the matrix

%

W & arenp Stanflé@ Gl — Ganuilen_dr Cppsens

shumi&s.

If A and B are symmetric matrices then show
that AB + BA is m%EEmeEo and AB-BA is mei
symmetric.

A wpg B ﬂ%:g ms.m.m%_qa% .ﬂ@ma.c H.mrw +BA) em
sw&fyentl eremayd (AB—BA) g sml — #wsfyenf

eranayid Hlpieys.

_.m_.bm.ng smallest number with 18 divisors.
18 a@sdsmars Qanam. Ds&APu  aamamens
s@r@dly. . :
- PART C — (3 x 10 = 30 marks)
Answer any Hmwmﬁ n:omﬁobm.

Solve n_...-o gt H.oﬁuuoom_

equation
.ma +11x* |wwa - 3342 +Sa+m 0.
- 6x° +11x* -33x% —33x% +11x+6=0 . eTemp
so@ED soaLT L STés.
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21.

22.

. 23.

24.

Sum to « the series 11.14 A 11.14.17 "

: +10.15.20  10.15.20.25
11.14.17.21

10.15.20.25.30.

11.14- p 11.14.17 " 11.14.17.21 o ol s
10.15.20 10.15.20.25 10.15.20.25.30 .

ﬂgeomqragsl 9._82.98:9 g_l@mgnqmsng&
TGS, :

. 2 -2 3
Diagonalize thematrix {1 1 1.
o e i B
2 -2 -3
1 1 .1 ) Siaflanii ppeneeiil L
1 8 -1
. ne_aamEqw@s.

(a) How many numbers are less than 500 which
- are not divisible by 2,3 or 5?
500 eremm ﬂaﬂa%B@ @eneuren, 2, u &_emc@_ 5
GTEND)  GTEMGETTE) U@L TS ©  ereRTaemen
crenTenfBans erégene?

() -Show that n(n+1) (@n+1) is divisible by 6.

. nr+1)2n+1) ﬂgr_@_ 6 - & aELED ear
Heys.-

Show that (18)!+1 -in divisible by 437.
(18)!+1 ereimugy 437 - e auGLGLD aTan Fiiays.
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